Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER -4 (NEW) - EXAMINATION - Summer-2025

Subject Code: 4340003 Date: 09-05-2025
Subject Name: Integrated Personality Development Course
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of simple calculators and non-programmable scientific calculators are permitted.
5. English version is authentic.

6. Use only OMR to answer the question Paper

Section A

Instructions: For each question choose ONLY ONE option and mark it on the answer sheet given to

you. All questions are compulsory. Answer according to what you learnt from the IPDC lectures and
workbook.

Marks: 10

1. ‘Live every day as your last’. This thought allows us to prioritize our life and achieve those
things that are more important sooner.
A: True B: False

Q) ‘Wloell [edd HIR) Bed) [edd 8, AU Hloflal £221% AL, L [AUR WU H UL
fg?qoml ILRUe] ST Utlloldl AU A A SRIA »suell Yi saiHi Heexu 1Y

. AR b. Wl

2. The difference between who you are and who you want to be is what you believe. And that
which you believe consistently is called a Habit.
A: True B: False
R) dl % 9] wel AN B Gleict] ULl ) Aol Hud WLHIR dH Q) 5 9] Well U &6 8. A dil
Uld ndla % $2d126] 8l dal wled s&alHi 1 8.
a. A1y b. Wl

3. A good listener will be able to understand how the speaker is feeling.
A: True B: False

3) dscll 5 wai¢d 8 d W5 AR Sldl A4 AS B.
a. A1y b. Wl
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4. We should spend most of our time in the circle of concern.
A: True B: False

¥)  WUEL Hl21@12lshl AU Ridletl ddaui U IR 5 %15,
a. dly b. Wl

5. Aryabhata Rishi mainly contributed to the field of Biology.
A: True B: False

U) w103 2ts(Nef Yul Y let 2a(dsilelotl QoM 28] &d.
a. Ay b. Wl

6. Vijay Bhatkar became the chancellor of Nalanda University.

A: True B: False
€) [duwy 25 slldel Y e 2letl sauld sisul.
a. A1y b. Wl

7. Dr Abdul Kalam's academic intelligence was the only reason for his success.

A: True B: False
9) SLuogd setiefl A&i(31s offeq W Aue{l UsN s, WsHIA 5128 &d.
a. A1y b. Wl

8. Networking is the process of calculating the net profit.

A: True B: False
¢) A2ds[o1 3 Alvu | ofslsfl A3 sclefl Ul5UL B.
a. A1y b. Wl
9. Family and community culture can have a significant positive impact on one's health and
well-being.
A: True B: False
() 512 (WS v YIHLCyS AS (A cUlSclstl 1202 3ol YUlISI1T] GU S5IAHS AR 53] 2 B,
a. A1y b. Wl
10. Project Management should be done after completing the Project.
A: True B: False
10) U2 A iee Yl se Yul el el 539 o1,
a. A1y b. Wl
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Section B

Instructions: For each question choose ONLY ONE option and mark it on the answer sheet given to
you. All questions are compulsory. Answer according to what you learnt from the IPDC lectures and
workbook.

Marks: 30
11. Which of the following are NOT one of IPDC’s four quotients?
a. Intelligence Quotient b. Emotional Quotient

C. Adaptability Quotient d. Physical Quotient

19) A58 Yool oflAei el sA) uis AR viisHiell «1eil?
a. %@Ni& (Intelligence Quotient)

b. flldeilcis Ais (Emotional Quotient)

C. Vol §Col & Hcll s (Adaptability Quotient)

d. ARIRS vis (Physical Quotient)

12. Which of these is NOT one of the 6 powerful thoughts?

a. Whatever happens, happens for the best
b. What am | grateful for?

C. How can | get people to like me?

d. Am | giving my 100%?

1?) d5015 Yosol o{lAstHiell sl (AUlR € 2AlEdlLoil (UMl 28 Ul «efl?

a. BUY DA ARIHIAY D,

b. & Slotl WIHIT] 92 Waud HIR Slotl WIHIR Hicid) S E52?

c. ¢ Q151 HIRL dR8 3l 21a w415 2§52 4l 15 Ha URie 53 A HIZ HIR 2 53 1 63?
d. 2 & HIZ] &Hdlell 1009% GUAIL 53] 215 €2

13. Change begins, simply, with _?

a. Talent b. An action
Effort d. A thought
13) i URddeloll 2Aevild 5 A1 & B?
a. uldeil b. s
c. WYl d. (aurR

14. How do habits form?

a. Cue-> routine-> reward
b. Practice -> perfect practice -> reward
C. Learn -> practice -> success
d. Learn -> patience -> success
%) vLedl 3l Ad esiy 82

a.  Udd->tlessH -> Selid
b.  WEALY -> cdd(Reld eULY-> FellH
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c.  2lug -> eARA -> AsAdlL
d.  Qlwg ->tlres -> Asndl

15. Which of the following methods should we NOT adopt during difficult challenges?
a. Find a positive attitude
b. Find someone to blame
c. Find workable solutions

d. Find assistance
qU) Y236 USsIR) el WIULL o{lAstin el 58 Uegldl wYstladl of w1522
a. S51RAMS AL
b. 5164 1N d dddl
. dsl> Gid lludl
d. 519¢{l Hee Nuadl

16. During the 1999 ICC World Cup, Sachin Tendulkar's father passed away, at that time he .

Become emotionally unstable.

Was unable to continue playing in the world cup.

Refused to attend his father's final rites and continued to play cricket.
Maintained balance of mind.

a0 oo

17. Which of the following does NOT mean "Listening with our eyes"?

Maintaining eye contact

Listening while reading at a phone message
Looking at the speaker's facial cues
Concentrating on the speaker

o o0 oo

19) “wivilel Aitng” Hi2 «ilAetiniell 53 ALY [qyiet «iefl?
a.  wjvilell Aus oietidl 2pvil.

b.  sloidi A% diudi aiudi Aietng.

c.  dSdloll YSRAUell St d§ Yl

d.  dScll dg AYLl wulel ).

18. Which of the following is NOT mentioned as a flip-side (drawback) of Social Media in the

IPDC workbook?
a. FOMO
b. Negative body image
c. Healthy sleep patterns
d. Poor concentration

1¢) {1t 1 iell Aeil GeQui ipDC dSuysHi Al [21ud HLSULA] (Feu-1es (uiHl) dd
sALM vl «iefl?

a. Sl (FOMO - 95 Y$1 AALeil wefey(d)

b.  ad[2d vilS] §3os (eis1RUAS @ldls(d)

c.  &cefl 2aly-Uedd (el [sigl Adieil A1ed)

d.  eloioil ¥ sIAdL
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19. Which of the below scientist, calculated an accurate approximation for Pi(rt)?
a. Aryabhata

b. Vikram

c. Sushruta

d. Vyasa

9¢) oflAell 5ULA S o{l 33 UL () HL 2 2 UL 2 2A.Ld3] 571 B B2
a. 1A 612
b. [d 54

c.y%d
d. Ul Y

20. The IPDC lesson taught us to keep faith in three things. Which of the below was NOT one of

them?
a. Faith in ourselves
b. Faith in the system
c. Faith in others
d Faith in God

R0) IPDC ASUMI M IUBL AL il (A1 2wl 2fluvl. silAstiniell sul (dsey
AHjell ¥ s «ieil?

a. ULl And GUR [dsdiA

b. [R1euni[asdld

c.  oilon clslHi [asaia

d.  eldleiHi [Asdl

21. Complete the following quote from the workbook: "Life is 10% what happens to us and 90%

a. What happens to others
b. How we feel

C. Having fun

d. How we respond to it

R9) d50ysHiell «{1A w104 [Aeista) Yuf 53

“@Pcteit WIURIL A18) Q) Ml B Wo] Hstd HIA 0% B, Wal 0% dell GUR 8.
a. oilmdlslulR g a .

b. ULl Q) MMl &l?

c.  Uldie 53,

d. U 3d) uldeild AR glA?

22. According to the IPDC workbook, family get-togethers should take place at least:
a. Once every week

b. Once every month
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c. Once every year

d. Once every 2 years

W) d5uys Yool ULRALRS (Mdal (Family get-together) 2189111 i1 JedldIR elq 1S
a. &¥s6dllSAAsAR

b. &U[&a AsqlR

c. ea¥AsdR

d. ey AsdR
23. Which of the following methods should we NOT use when performing seva?

a. Serve with love

b. Be thankful

c. Be prepared to sacrifice
d. Serve to get praised

3) Adl sl duid o{lAst1niell 58 Acdloll GUULL ol S| B1SU?
a. el Aql sdl.

b.  WIMII Weld,

c. OifQelel HIR2 AUR e,

d.  weidl Anadl.

24, In the book, '7 Habits of Highly Effective People', Stephen Covey says that we should stay in
which one of these circles?

a. Circle of influence

b. Circle of miracles

C. Circle of concern

d. Circle of life

) ‘9 &le12U vils e1gdl v(s2a Ulud' yrasuiwlset sdl sé 83 viusl wuiedl sul
UsRell ddni &4 1 g31»

&Udlef adn

b Y5124 ddn

c. Ridle adn

d del ddn

L

25. "We owe a lot to the Indians, who taught us how to count, without which no worthwhile

scientific discovery could have been made.” Who said this statement?

a. Ernest Rutherford
b. Guillaume Le Gentil
c. Albert Einstein

d. K. V. Sharma
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W) “W UL e1RcdlAledl Rid Bl 1], BUBLL WIUBLA LA Scli AW, Betl ddI1R

S18 Ul Hetdoail 2014 scil 125U &dl.” 211 [1d el S1Q 1Y &g

Q

b
c.
d

Uol22 2eULS (Ernest Rutherford)
BGraly g el (Guillaume Le Gentil)
101 LFeR21Y el (Albert Einstein)
Y.dlaml (K.V.Sharma)
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Section C

Instructions: For each question choose ONLY ONE option and mark it on the answer sheet given to
you. All questions are compulsory. Read each question carefully before answering. Apply what you
have learnt from the IPDC lectures and workbook to choose the best option.

Marks: 30

26. Two weeks ago, Abdul submitted his scientific research paper for his first review Due to the lack
of support from his appointed research partner, Abdul had to rush the result analysis. Today, when he
went to collect feedback, his Professor responded only with harsh criticism for his work. How do you
think Abdul should handle the situation, going forward?

a. He should ignore the Professor's harsh tone and keep trying amidst the difficult circumstances.

b. He should try and use that criticism to improve his research paper

%) A wodL(SUL US| MogQ [ASilel it dstl Moo ddlg UuR Uiy Ai{lell HIe wUl AR,
B NUAH deoll A1 51 Sl Alefl Aot drsedl dal SIHHIYRA] 4sA1aL o Hodi Bed] as]A
Vol £1SLELS] A8, 1% 2RUIR A dsil Wikt lus UL (§S0S (ysil) Adl A IR dHEL 555 AuelHi
UYL 53 AL URRU(AH] 4ogQ 3d] Tla w1210 dbg 12

a. A Ul IUsel] 812 dellal A1l yede URReL(AH] Ul Udetyds HSuUL &G %165,
b. Bl d A 1e)Ystlell GUALIL 53] detl A Hsts1AA YHIRAL Yol S]] S,

27. ‘First they break you and then they remake you’. What can we learn from this method that the
USA Army use to train their recruits?

a. We should be ready to come out of our own comfort zone to further our personal growth.

b. We should break all limits and make new innovations.

9) “First, they break you and then they remake you.” ?;I,.Q;R-LQ. WM AHeAL Al 51 yl2Lleid sdl
1 Ild wuelld 8. dell uefl 1 1uRla 9) 2flwdl A B2

a. )ddeiti W10 dtiq €1 dl MRIHeIAS UR R ©95dl AR g U3,
b. WU o] o AL 1A LS 5655 el 523G 1S,

28. "The rule of 21" - What did we learn from this rule in the context of new habits, as mentioned by
Robin Sharma in his book named - "Who will cry when you die?"

a. You should develop a habit, by practising it for 21 days without a break. Initially, it is normal to
feel uncomfortable for the first few days. But if you break them in for about three weeks, they will fit
like a second skin.

b. If you find it uncomfortable while developing a new habit then take a break and continue when it
feels more natural to you. Continue this until you reach the 21 days target to develop a beneficial
habit.

2¢) A04el AU Aell Yads “g dlel 514 cdel Y SIA?” Hi drlAE “R4 i) [HAH” (Rule of 21)H el
et «icl A1) 2dl utsal (AN w1 usl gf eflual?

a. 516 otcfl 2d ULSAL HI2 Add (RASHIRL) 1 (ect YHl defl 2eA1 5] 182, AU LM
1Sl (edd Alg WIAASALY 613, ULl %) dH el ldeti ARl wEaL[SUL Uld Al HsUL el
dl d 2d dH IRl US|l FU du 1] 419 1S1E %2l
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b. o] dHa oidl 2d ULSAIHi A2AASAL USH] €A dl dal 9 91S] €l. Aal Ul 2Rl dHa
U s0dl @1l AR 310 2 52N, 516 oicf] GUALSl 2d uLsAl AL UHIQL 21 [ed Yl sd 1o Ulg
A

29. Radha wants to start a new habit of running 10km daily. She downloaded a fitness app and even
bought new trainers. But she struggles to stay motivated to continue every day, especially when her
legs feel a bit sore. What can she do to make this habit more regular in her daily routine?

a. Run an extra 5km on the next day as a punishment for skipping a day.

b. Allow herself a small reward every time she reaches her target.

() U1 £R1% 0 (5., elsdledl sl 2d u1sal Hidldl edl. dQl sleay 24 Ul SIG-ELS 531w
odl 26 (Ul21e15)efl ual Hee lel. Ul A% [AMAUEl £1scimi dal Yodel usdl il wa
WA 53o 2R detl Wi gulld) ad) Sld RUR dHIRL Hd Yo, 2L 2dal [l deiail ¢HIdl
Weilddl A8l Q) 523G A1 SA?

a. s (e ol elsdl Wed oflom (ead (R1elReU U (5.4, auR £15g 1.
b. RUR d dell deda Ad A €35 dud dQl Uldlefl wdel 585 Ulcdlestel Seild 1ug
S,

30. Dhaval has been visiting the cricket nets every day to practice for the upcoming regional trials in a
few days. He feels confident in his ability and expects to gain a spot in the regional cricket team. Upon
his regular visits, he gets familiar with another youth called Raj. Upon talking, Dhaval finds out that
Raj is also applying for the trials. Raj requests Dhaval to give him some guidance on his batting style.
Raj is not sure whether to help him or not, because competition is already high and Dhaval seems
naturally talented. What do you think Raj should do?

a. Dhaval should try his hardest to assist Raj to improve his batting technique.

b. Dhaval should give Raj a few general tips before leaving to focus on his own technique.

30) 4dd, eS| [EduHi AFU 2 Alostes ] Wnl HIR €200 (SFeaen] Wsed (A1) sl
oA 8. dal dsil eHdl U YR\ [Asdiy B wa &[5y SlHHi eUlet Hoddl 68 8. w1 e3let d U’
ollMoll oflom Yo seil URUYHI #41d B, % UL deil BH U5y Ui 211d 8. dld Sdi dal 1Rl Ha
8% A UL AR W M 61191 Adlell 8. Uldisll A (221 1656 YU 1RClL A% Hdd ULQ Aels-YUeil
Hi3 8. tddg WyHw AU HId] 21U B. d o551 o] 53] sl 5 ARl A% Hee 5] H1SA % o€l
SRS IS 24 D), 4 ULed) 2108 UldetiLlofl el 8. dHIR1 [ 1R Yosod Hdd 9] 523G 1 650?

a. A%l 0[391R166 Yu d HI2 ©dd Uldlel v dedl 1% Hee sc] 1.
b, 4dd el &SI AlH LU Yol WU 249 Ul Uld el 2515 UR talet Blogd 523G 1654,

31. Mr. Honda is the CEO of a clothing manufacturing company. Over the last two years, Mr Honda
has successfully opened 18 new factories around India. Today, he has a review meeting with his clients
in Mumbai. Just as he was about to board his flight, he receives news of an accident in one of his
nearby factories. One of the machines temporary malfunctioned, injuring 15-20 of his workers. What
should Mr Honda do?

a. Mr. Honda should reschedule his meeting and visit the factory to personally provide emotional
and financial support to his workers according to their needs.

b. Mr. Honda should inform the manager to give the workers a financial package for their troubles
and then continue to his meeting.
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39) HlHlel Slost s sUST vdellad] Suoileil ] 8.20). 8. Deal &) dNHi A SleSI1) wLuiL HIRdHL
UsNAIYds «id] 3¢ 352l vl 8. 4IB AHetl ALsS) AL YuSH] AHedl ey M2 8. A
[u oM uSdletl Sdl i % dHal dHsil A5 AR seil FseU M5/ Ld A lell HHIUR HA B, A
He{letH vRlu{la 51291 9U-R0 $IF1R1e S UL B, 341 AHA 8] SlosiA Q) 523G w1522

a. ] €losi) duefl (M2 eilon s165 (ea dlled] 35231 UR aeSal S12191R1A Gl lollcHs Wl
Ausfl e RULd Yoy u1(els 28] 1 1Udl 1S,

b. gl Eles1 AHell AR 581 SIT1RA 21 Hedd URRUAH] 1S Asd WUl
Axefl (1221 53] Ad] oA

32. Shilpa has had a difficult day at school and wants to talk to her cousin, Kinjal, about it. They have
sat down in the sitting room and Kinjal is listening to Shilpa. During the conversation. Kinjal sees that
her friend, Meena, is calling her phone, probably to discuss next week’s shopping trip. What should
Kinjal do now?

a. Kinjal should tell Shilpa to wait so she can answer her phone and talk to Meena. Shilpa is going
to be

at the house for the whole day so they can talk after the phone call.
b. Kinjal should ask Meena to call her later during the day and then give Shilpa her full attention.

33) (LU lel] w1oset] (e AL IHT WL 6L, A (A defl siéel (599 A18 d did sl HIAdd] edl.
W W5 RSIHL Wi wal (54 (RUeUls] did UIMA 8. 2 o quiad (5dsil (A Hlstl, lddl
WoAL[SUIMI Wl sal wdl Hizetl YUL 5L Slol 52 . dl WR (5%Q Q) 523G 1o ?

a. (509 (21eUlal dld 5] wesldl Slet U Hlell 418 dld 53] Ad] o1, (2leul d] 1M ULl
W) (edy dedl 118 83 2 B dl slet uedl Ul (2Leul 1 dld 53 213

b. (59 Hlstlel elSL AHY UL Slot 52al 58 18, Bl (AUle] dld U Yaq ealel AUl
A3

33. Suraj is having a discussion with his friend Minesh about a recent argument they had at college.
This incident has made Minesh feel disappointed. He believes that Suraj is to blame for the whole
incident. But Suraj tries to calmly explain why he reacted in the way he did. What is the best way for
Minesh to approach this conversation?

a. Minesh should get up and leave the conversation. Then try to forget about the incident.

b. Minesh should carefully listen and try to understand Suraj's perspective with an open mindset.

33) Y%l dell (1ot (oY A8 sladosHi GA edld 2l 8. w1 geailell (HaN (42121 AAE) & 1o A
W] el2ell HIS YRl BALUEIR Hiol 8. LS| AHY ulle 3R 2lildell Aol AHddl YAt 52D, 5
Aa 211 51 Al UlAlsaL 41, 241 duid [N 3] ld ddd g2

a. (M YRoeil dldal AR\ eleatlel ¢el %l U el $ql S| S,
b. (AN R-{l did wuleiyds Aictoil yRoweil ¢[Bs1alell dldel AHesdl HIR Weal Hel Ul 5l
¢S4,

34. Riya has been invited to this year's National Youth Summit. As a medical student, she has been
asked to prepare her view on the future of India and its medical practitioners. She is trying to decide
which message she should convey. What do you think is the best option:
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a. Youths should contribute to India by becoming doctors. Being a doctor means you can become
wealthy and reputable.

b. Youths should contribute to India by becoming doctors. Being a doctor means you can serve your
country by helping its citizens.

3%) Ul 21 el AVNA Yl ARGeAU] w1 A 5 M 241 B. A5 dofloflatiuwled] (aai (el
313 dal @lRds] @il ua deli doflof] culdv1IRIS) U Uldlel Hdedl 2% 52al $&d 1 8. AWl sl
Azl Hudl A8A d 33 A [HIHD . dHRLHA 54l [dsey GdH 8?2

a. 4dle1 dofloy oiofl @idell [AsI-H ALl w1 B8R, doflod etaief] dR Tl e UldBl
AREENN

b. YdlellA dofld sl #iRdell ([Asiui AldAeled MUG HoR. dofle oeidlell d dHlRl
rRldale] g g2 53] elell Adl uwl s3] 2Usell.

35. Bhavya has just completed her master's degree in Biophysics. She is now applying to take a PhD at
five of the top 20 universities in America. She has received admission to two universities and is now
deciding which admission to accept. After weighing up both options, she has seen two deciding
factors. Which of the below factors do you think she should prioritize as the most important?

a. The expertise and suitability of the PhD supervisor.

b. The reputation and prestige of the university.

3U) M SHQLL % GWIAL(s[suHi Hier (SAl dlel 8. d Yl .8l Hi2 HARSLe 2lusl 20
Y (st {21 ullH el uiui udel Anddl Udet 531 261 8. dal A Y(std R{Z1H] ud el HRLl & uia &d
A (uIHi 8% 58 Y [AdRIZIHI g, WAsil daell sl A siledd)l AR 41l dHIL Hd Yoo «f1Ae{]
58 W1l Ul 4 [Ug H1 o2

a. (Yl ua A1y LA S). duLes.
b. YAl valld det uldsL.

36. Jenish works as a computer engineer for an upcoming technology company. His manager has set
him the task to update an important function for a developing product. From the requirements given
by the manager, Jenish predicts that it will take him at least 10 days to finish it. But his manager has
challenged him to complete it in 4 days. How should Jenish react to such a request?

a. Jenish should tell the manager that 4 days is impossible, but he will deliver it in 10 days.

b. Jenish should meet his manager's challenge and try his hardest to try and complete it in 4 days.

3<) B[e12L W5 SAE U2l 25e1ER) 56 SUsiIHI s112422 W[ (AU d5 514 52 B, dsti A% dd
A5 Gllgeloll WY [(AS1520lef Herdlo] SIH AT, BAR [UR] 3, A 10 (Eduui A0d 514 Y.l 53]
22l UL dell Ao d S1H ¥ (edqHi % YD 5ql 56 2L dwd B[l 3dl uldlsul 241ud] esle?

a. B[4 N2 5&q oW 5, Bl S1H ¥ [edUH YD 523G WARL B, d o [eddHi 514 Y 531
AUl
b. B2l Astl A% AU USSR 21s1] ¥ [eduHI 514 YD 501 deldls Held 5l oA,

37. Chandresh has been using his phone at night before bedtime and now experiences sleeplessness.
How would you suggest he solves this problem?

a. He should only use limited applications at night and avoid playing any games on his phone.
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b. He should set a fixed time at night where he stops using social media. And he should not sleep
with his phone within reach.

39) Al Yl Uai AR defl Slot AU 280 & wA $Q Al Glel vl il el R 241 YHRULed) 6 Q]
Yudell?

a. A8l AA HIA HAUl(ed A EEQlstell o GUALIL 52dl SR WA deil Slot UR WML Mdle] elng
€54,

b. AQl 2AA A [el[Sdd MY A2 5 B1S el d YHA A Ul(R1uE Hl[SUlell GUANIL sdle] vit
53 e dQl JAA Yl dwiad §lel Uldledl s s Au{lel g ot S S,

38. Megha has recently been feeling unhappy and lonely. For the last 2 weeks, she has been longing
to share her emotions with someone. What should she do?

a. She should reach out to people using social media and create new friendships.

b. She should express her feelings to family members with whom she feels comfortable

3¢) el 2AlSE HHUL] g W Wsedl Hoed 8. dedl 2 wWadllsUlell, d 51854l AUle Uldlsil
11Q{1) s 501 6§ B, Nell Qf 5 H1 62

a. A8l U1 HI[SUlell Hieefl ) 5] el uslug S S wal el (] slstidal as1e5A.
b. AQl URdIRe1l % 46U AL dy [dA52dl €ld dsil A1 Uld el 1o ) s 5] %1,

39. Chris Anderson (Chief Executive of 3D Robotics) once stated that "We have seen the dangers of
technology first-hand. I've seen it in myself, | don’t want to see that happen to my kids." Which
statement best describes the important lesson to be learnt from this quote?

a. Children under the age of 12 should be banned from using social media.
b. The use of technology can be harmful, especially for youths. It should be limited and used cautiously.

3¢) (53 WU (3D AW sustl Als NsHRY[(2d) AsdlR $&) q 5 “wIu€l 25ed12)<(l
HUleAS5AL NS B, HIRL et ULl dell et sUl B, ¢ «iell 909d) 3 HIRL t1015] UL del) 611
oal.” w1 el {1l 2Us1d Ag WoLIe] dlsY 53 82

a. 12 Nl 21e] GHRe1l (il S) UR A (R1ae HL(SUle) GUANIL 52 UR Uldoit ysd) A&,
b. 2512l GUALIL WY 531 Ydledl HI2 slleisiS «{las] 213 8. dell GUALL HAU[(Ed Auid)
A5 wa AIdAIYdS 5] o1,

40. As a student, you want to excel not just in your academics but your personal life too, should you....
a. Seek to build a strong network with your teachers and classmates.

b. Seek to build a strong network with classmates only, as teachers do not work in the industry,
meaning that their knowledge is theoretically limited.

¥o0) [aailefl d3 dHIR s5d 2elBls sIRISEMI o AV YraIR «tell &g, Ul dHIRl cldyLRS
Ui UL AB Weld Sl dl)...

a. dHIRL (18] del USIe 1R A) 18] w5 Hosudd uit taild).
b. dAHIRL UL 1R{12) UL % Hosoyd Aoit Wstld). SIS, (RUeis) AENELS sl s1H «tefl sl
2q duel §5d Y5y Sl el 8.
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